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PSYCHOLOGY
Paper - 11
Note : This paper contains fifty (50) objective type questions of two (2) marks each. All
questions are compulsory.

1.  Itis difficult to extinguish gambling behaviour because it is conditioned using
(1) Fixed Ratio Schedule (2) Variable Ratio Schedule

(3) Fixed Interval Schedule (4) Variable Interval Schedule

2. A generalised picture or model of an object or event learned in the past, and stored in

memory is
(1) Perceptual Constancy (2) Memory Trace
(3) Prototype (4) Cognitive Map

3.  In classical conditioning when a strong CS is paired with a neutral stimulus causing the
neutral stimulus to become a second CS is called

(1) Higher Order Conditioning (2) Stimulus Substitution

(3) Vicarious Conditioning (4) Discrimination Learning

4. Read each of the following two statements — Assertion (A) and Reason (R) and indicate
your answer using codes given below :

Assertion (A) : Cattell proposed that dynamic traits are organised in complex ways
within the cognitive and motivational structure of the individual.

Reason (R) :  Dynamic traits are relatively independent of each other.
Codes :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

5.  Consider the following three types of psychological investigations :
(a) Field Experiments
(b) Laboratory Experiments
(c) Ex post facto Field Studies

Arrange the above types of investigations in ascending order in terms of researcher’s
ability to control secondary variance.

(1) (), (), (b) (2)  (a), (b), ()
3) (b)), (), (c) @ (), (), (a)
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6.  Match List — I with List — IT and select the correct answer by choosing from the codes
given below :

List -1 List - IT
(Method) (Problem/Limitation)
a. Observation 1. Socially desirable responding
b. Time Series ii. Limited generalizability
c. Case Study iii. Subjectivity
d

Survey iv.  Autoregression
Codes :
a b c d
(1) iv i i il
(2) i i i iv
3) i RS V¥ B\
4) i iv il i

7.  According to Erikson, which of the following sequences is correct ?
(1) Oral-sensory — Locomotor-genital — Latency — Adolescence — Adulthood
(2) Muscular-anal — Oral-sensory — Latency — Locomotor-genital — Adolescence —

Adulthood

(3) Oral-sensory — Muscular-anal — Locomotor-genital — Latency — Adolescence —
Adulthood

(4) Locomotor-genital — Oral-sensory — Muscular-anal — Latency — Adolescence —
Adulthood

8.  Thurston criticised Spearman’s ‘G’ mainly on the grounds :
(a) Gresulted from statistical artifacts based on mathematical procedures.
(b) Human intelligence can not be considered as a single unitary trait.

(c) Intelligent behaviour does not arise from a general factor instead emerges from
different primary abilities.

(d) Spearman’s theory is not empirically based.

Codes :
(1) (a), (b) and (d) only (2) (@), (c) and (d) only
(3) (), (b) and (c) only (4) (b), (c) and (d) only

9.  Which one of the following is not a Cranial Nerve ?
(1) Abducens (2) Vagus
(3) Hypoglossal (4) Insular

10. According to Glanzer and Cunitz (1966) highest degree of forgetting takes place

(1)  Within ten seconds of learning (2) Due to poor memory trace
(3) Due to lack of relearning (4)  Within four hours of learning
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11.  Action Potential is possible only when
(a) Neuron is negatively charged on the inside of membrane
(b) Neuron is positively charged on the inside of membrane
(c) Neuron fires according to all-or-none law
(d) Neuron fires according to variations of intensity in stimulus.

Codes :
(1) (a) and (b) (2) (c)and (d)
(3) (a)and (¢c) (4) (b) and (d)

12. Read each of the following two statements — Assertion (A) and Reason (R) and indicate

your answer using codes given below :

Assertion (A) : Psychologists have adopted more cognitive view of memory rather
than behaviouristic.

Reason (R) : They want to isolates some of the processes that act between the input
of a stimulus and a response output.

Codes :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

13. Match List — I with List — II and select the correct answer by choosing from the codes
given below :

List -1 p!—

(Schedule of (Ex atm,)
Reinforcement)

a. Fixed Ratio L Remf&cqlg a response f;nly after a specified time has

b. Variable Ratio ii. R@£C1ng a response after unpredictable time interval
c. Fixed Interval iii. __‘R!amforcmg a response only after a specified number of
responses
d. Variable Interval " iv. Reinforcing a response after an unpredictable number of
4~ . responses

Codes :

a b C d
() 1i v i ii
) i i i iv
3 i i iv il
4) iii i ii iv

14. Wechsler Adult Intelligence Scale (WAIS) can be used to get
(a) Verbal IQ
(b) Performance 1Q
(c) Full scale IQ
(d) Deterioration Index

Codes :
(1) (a) and (b) only (2) (b) and (c) only
(3) (a), (b) and (c) only (4) (), (b), (c) and (d)
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15.  Which of the following issues are addressed in the scientific study of personality ?
(a) Human Universals
(b) Individual Differences
(c) Uniqueness

Codes :
(1) (a) and (b) only (2) (b) and (c) only
(3) (a) and (c) only 4) (a), (b)and (¢)

16. Read each of the following two statements — Assertion (A) and Reason (R) and indicate
your answer using codes given below :

Assertion (A) : Naturalistic Observation is a preferred method in ethological studies.

Reason (R) : Naturalistic Observation is free from the effects of observer’s
subjectivity.

Codes :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

17.  Which of the sequence is correct ?
(1) Ganglion cells — cones — rods — bipolar cells
(2) Cones — rods — optic nerves — blind spot
(3) Rods — cones — lens — ganglion cells
(4) Rods — cones — bipolar cells — ganglion cells

18. The following features are associated with the Kluver-Bucy Syndrome :

(a) Temporal Lobe Ablation (b) Parietal Lobe Ablation
(c) Orality (d) Hyper-sexuality
Codes :

(1) (a) and (b) only (2) (c) and (d) only

(3) (), (c) and (d) only (4) (b), (c) and (d) only

19. Read each of the following two statements — Assertion (A) and Reason (R) and indicate
your answer using codes given below :

Assertion (A) : Moon at the horizon seems larger than when high in the sky.

Reason (R) : Presence of cues of distance at the horizon makes the objects behind
them seem farther away.

Codes :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.
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20. The ability to see things that are not actually present is called
(1) Illusion (2) Precognition
(3) Hallucination (4) Clairvoyance

21. Which one of the following is the nearest non-parametric alternative, in terms of power, to
independent samples t test ?

(1) Mann-Whitney U-test (2) Kruskal-Wallis H-test
(3) Sign test (4) Chi-square test

22. In which type of Reasoning two premises are used ?
(1) Formal Reasoning (2) Inductive Reasoning
(3) Deductive Reasoning (4) Syllogistic Reasoning

23. Analogical reasoning involves five sub processes. Its correct sequence is
(1) Retrieval; Evaluation; Abstraction; Mapping; Predictions
(2) Retrieval; Mapping; Evaluation; Abstraction; Predictions
(3) Mapping; Retrieval; Abstraction; Evaluation; Predictions
(4) Mapping; Retrieval; Evaluation; Abstraction; Predictions

24. Among the psychologists who is considered the originator of Nature-Nurture Controversy
(1) Darwin (2) Galton
(3) J.M. Cattell (4) Spearman

25. Read each of the following two statements — Assertion (A) and Reason (R) and indicate
your answer using codes given below :

Assertion (A) : Mind has the power to form new combinations in the course of
experience.

Reason (R) ¢ Several ideas working together increase the associative strength.
Codes :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

26. A disorder in which signals from various sense organs are processed in wrong cortical
areas resulting in sense information being interpreted as more than one sensation. This is

known as
(1) Hallucination (2) Ilusion
(3) Syneithesia (4) Delusion
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27. In a Contingency Table, one of the cells has obtained a frequency of 16 and an expected
frequency of 10. What would be the contribution of this cell towards the total Chi-square

value ?
() 1.60 (2) 225
(3) 3.60 4) 6.00

28. The learned helplessness theory comprises of the following key elements :
(a) internal, stable, global causes for bad outcomes
(b) external, unstable, situational causes for good outcomes
(c) internal, unstable, situational causes for bad outcomes
(d) external, unstable, global causes for good outcomes

Codes :
(1) (a) and (d) only (2) (b) and (c) only
(3) (a) and (b) only (4) (c) and (d) only
29. When an exciting or emotional event occurs, the secretes , which
consolidates memory of that event. Select the words to fill the above blanks :
(1) Fuseiform Gyrus, Dopamine (2) Left Prefrontal Cortex, Serotonin
(3) Hippocampus, GABA (4)  Adrenal Medulla, Epinephrine

30. Match List — I with List — IT and select the correct answer by choosing from the codes
given below :
List -1 List - II

a. Morpheme i. Rule of lan age that enables municate
b. Grammar ii. Rule by wh1 e derive me£nng

c. Semantics iii. Rule fon._c%‘nbmlng words

d. Syntax iv.  Smallest unit that carries meaning

Codes :

a b c d
(H i iv il i
2) iv i il
B3 iv i i i
(4) i i iv i

31. Read each of the following two statements — Assertion (A) and Reason (R) and indicate
your answer using codes given below :
Assertion (A) : Organisms learn to suppress responses that lead to removal of pleasant
consequences.
Reason (R) : Punishment weakens responses that precede occurrence of stimulus.
Codes :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.
(4) (A) is false, but (R) is true.
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27. U BNHBAT RO § Tk HIF¥TeHT Sl 16 Sl G U g & STafh Fea¥rd Mg 10 & | Fet
HTE-THER God H $9 HITVTeHT T AR FT G 2
(1) 1.60 2) 225
3) 3.60 4)  6.00

28. AT TgeTEaT fagrd ¥ FMeTaiad | ¥ i T 92 IHe § 2
(a) X UROTHET % feTw 3fafen, fer 3 afvaes Hro
(b) = UROTHT % fIq amer, TRy SR feafst=r sroT
(c) T RO % fofw ST=aRer, TR 3iX fefas= sror
(d) = URoTHT % fow o, IR R Sfvass wrRoT

T
(1) et (a) 3R (d) (2) e (b) 3R (c)
(3) e (a) AR (b) (4) e (c) 3R (d)
29. 9 HIT AR AT HoHcHS FeT gied aidl & q 1 19 BT & S
39 T Sl Wi T FEHT AT & | SIS DTl ST o foTT Tt 9131 bl 9
(1) THET MRRY, SOTHT (2) aran gdem aeke, FaRiela
(3) e, siusiT (4) Afgees iaw, TR
30. T - 1% G 11§ GHfed ST Te A T T e § 9 W SO 6 96 S
et -1 Tt - 10 ‘

a. ofum i 9T I S AT B Ahef 9T O B |
b. AR ii. Tu e s e € Lo
c. o i, vt Sired & e
d. I iv. GO S e TS '
&<
a b C d
() i iv i i
@) iv i i i
(3) iv i i i
@) i i v i

31. freAfcfad s et — 31T (A) 3R a9 (R) o1 dfet 3R < f§T T et 1 SUanT e gu
30T I ST
AT (A) : ST 37 UfAlhaTeT B ST A STl € S s RO bl T 3 i 5w |
R A & |

T (R) : TUS 37 UIASHATST ol HHSIT HIT & ST Se [0 o 8 ¥ Teed il & |

E!g_‘d‘:

(1) (A) 3R (R) 3HT Tt & 3T (R), (A) T T& AT E |

(2) (A) 3R (R) IF el &, W= (R), (A) Tl el = T € |

(3) (A) W e, Al (R) T & |

(4)  (A) Td €, WA (R) T |
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32. Ebbinghaus described memory as a matter of

(1) Reconstruction (2) Reproduction
(3) Strong Mental Process (4) Strong Retrieval

33. In strategy participants pick cards that differ by only one feature from the
example card while in participants maintain one feature while changing all the
others.

(1)  Specific Induction; Successive Scanning
(2)  Successive Scanning, Specific Induction
(3) Focus Gambling; Successive Scanning

(4)  Successive Scanning; Focus Gambling

34. Which one of the following is a function of Myelin Sheath ?
(a) Carry the neural message to other cells
(b) Maintain the life of cells
(¢) Insulation from other axons

(d) Receive message from other neurons

Codes :
(1) (a) only (2) (a) and (b)
(3) (c)only (4) (c)and (d)

35. Read each of the following two statements — Assertion (A) and Reason (R) and indicate
your answer using codes given below :

Assertion (A) : Heritability describes what is the genetic contribution to individual
differences in intelligence in a particular population at a point of time,
not what could be.

Reason (R) : If either the genetic or environmental influences change, then the
relative impact of genes and environment will change.

Codes :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.
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32. e Wia & Hefefad o 9 feas @ § aftr w3 € 2
(1) g (2) TR
(3) TSTEd AHGS AT (4) ISTEd A

33. FEFIT T 9T & aTel SIe0NT HIEl § T TH H1S 3T ¢ (STl el Teh foreieam
ST 37T & STeieh T 9T oF aTel AR hael U fosioar 9 T@d gu 9y ot i
F_A A E |
(1) fafere smme; sHreg wHAT (2) HHEE ThT; fafere smme
(3) THIHY MO, Shag ThT (4)  THHIE THT; HiwT FrEferT

34, fAfefEd & 9 SF o1 v Afemene # e 9
(a) dT¥eRT T T SHISTEHTS | o ST € |
(b)  RITITHIST F ST i ST TGA & |
(c) 3T 3nTaq & SR
(d) 3 TRt HIRTERIST & HIYT T Hiell & |

7{@':
(1) =5 (a) (2) (a) 3 (b)
(3) A (c) 4)  (c) 3R (d)

35, ffafiad s el — STHE (A) SR a9 (R) i 98T 3R~ A9 KT T F2 51 ST e 3w
3T ST ST

ATUHEA (A) : TN Tt & 6 e fomiw gy fog W U foviw gt | Sitgewdr &
ATFRITA 3R | STARTS AMEH T &, S T Fal 8 qehell |

% (R) : IS AT 3ToraT THeRviE wret & 9 fomdt & off oiads omar & ot S 3R aareror
T JeHTHSE TS HH & ST ¢ |

(1) (A) 3R (R) 2HT W & 2R (R), (A) F w6 =amen & |

(2) (A) 3R (R) I el €, W (R), (A) Fl el = T € |
3) (A) W E, o (R) o ¥ |

(4)  (A) o &, Wik (R) WET & |
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36. Match List — I with List — II and select the correct answer by choosing from the codes
given below :

List -1 List - IT
(Part of the eye) (Explanation)
a. Fovea 1. Receptor cells in the retina that are highly sensitive to light
b. Cones ii.  Light sensitive receptors cells in retina responsible for sharp
images
c. Rods iii.  Adjusts the amount of light that enters the eye by constricting
or dilating the pupil &
d. Iris iv.  The area in the retina in which cones are highly concenl{;ted j
Codes : ‘
a b c d
() i i i v
2) iv i i il
(3) iii il i iv
4 iv i i il

37. The improvement of performance following rest after the cessation of practice is called
(1) Habit strength (2) Recency effect
(3) Facilitation (4) Reminiscence

38. According to Opponent-Process Theory, which of the following colours are used in the

pair/pairs ?

(a) Red

(b) Green

(c) Black

(d) Yellow

(e) Blue

Codes :

(1) (b), (¢), (d) and (e) (2) (), (b), (c) and (d)
(3) (), (b), (d) and (e) (4) (), (b), (c) and (e)

39. A process in which our judgements, emotions or behaviour are influebced by mental
processing that is not really under our control is called

(1) Retrograde Amnesia

(2) Anterograde Amnesia

(3) Mental Contamination

(4) Mood-Dependent Memory
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36, T - 191 g - 11§ GEe T Te A e e et § | w6 SR B e e

et -1

(i@ % wrm)
foret forg
oP
U

o o

d.

%< :

(=N

ey
2
3)
“4)

37. 3T Wl b o 15 U U farsme & FoIe § S R BT & 9 Heed €
EIERNIES]

GHLIHROT

(1
3)

38. foRiETenss HisHAT (Opponent Process) ToEId % STHR Fra/gmt | Fe=fel

AT

a b
iii i
v i
i il

iv il

ii.

iii.

1v.

c
1l
il
i

i

SO e ST & 2

(a)
(b)
(c)
(d)
(e)

E T

(D
3)

A
&1

EQl
e
e

d
v
iii
v

iii

(b), (c), (d) 3R (e)
(a), (b), (d) 3R (e)

AT ! Urgeh HITHIT ST FH9T & Uid deg Gas! &l & |

e - 10
(=TE)

e | TeRTeT Warst ek TRt W ot o fet ST €

TAE! hl THrad ek 3TET SHHT [ORAR ey 3 § TeleT e
TeT FERTYT I HIET ol AT HAT € |

e &1 g 9T e ¥ S8g Tptad B § |

(2) dTcHICTR TS

“4)

HEOT

2
“4)

(a), (b), (c) 3R (d)
(a), (b), (c) 3 ()

" HE G T w

39. UH uisHA fSEE e (uim, GO steen =eRR fedl AMige Uishatcashar § yeifed gid € ST

ARE B 310 =0T § TR Bl | 3 T e € 2
qERH e ATl

(D
2)
3)
“4)

TEETH ST e

-7

AT ST S
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40. Match List — I with List — II and select the correct answer by choosing from the codes
given below :

List - I List — II
(Tests) (Authors)
a. Cognitive Assessment System i.  J.P. Dass

b.  Group Tests of Intelligence ii.  R.B. Cattell
c. Cognitive Assessment Battery iii.  Otis __
d. Hold and Don’t Hold Tests iv.  Wechsler -1. *"_
Codes :
a b c d

(H i i i v

2 i i iv il
(3) i i i iv
4) iv i i i

41. Ethological approach to Motivation mainly explains :
(a) Biological aspects of behaviour, that is behaviour’s value to the organism.
(b) Evolutionary history of biological behaviour.
(c) Causation of behaviour in terms of stimulus, hormonal and neurological events.
(d) Sociobiological determinants of behaviour
Codes :
(1) (a), (c) and (d) only
(2) (a), (b) and (c) only
(3) (b), (c) and (d) only
(4) (), (b) and (d) only

42. Adler’s developmental path to psychological health consists of following sequence :

(1) Feeling of Inferiority — Striving for personal superiority — Constructive life style
— Psychological health

(2) Striving for superiority to attain completion — Feeling of inferiority — Destructive
life style — Psychological health

(3) Feeling of Inferiority — Striving for superiority to attain completion —
Constructive life style — Psychological health

(4) Striving for personal superiority — Feeling of inferiority — Destructive life style —
Neurosis
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40. T — 130 G - 1§ Goferd ST T8 A1 T 0 e § | HE SR A w6 S

(1
)
3)
4

e -1

(rdteron)

AT Yo JoTelt

g & e TeTur

AT G St

gleg UUE T Bleg gieu

il
il

v

1i

ii

iii

iii

v

ii

Y
iii

v

= - 10
()
SRt
AR, HeeA

41. FTOTROT FH ARG JUNTH TEAd: T FIAT &
RN & ST T6e] ST STie & 8K Jod § 2 & |

(a)
(b)
(c)
(d)

T4

. ¢ .

)
3)

ST SRR & 35T 1 e

IR, BTHT T HISTEHT BT o oo H HeN o HIFHRUT
FEER & GHSTSle (4R

A (a), (c) 3N (d)
Fae (b), (c) 3R (d)

(2) %A (a), (b) 3N (c)
(4) A (a), (b) 3N (d)

42. TSR % HAGRAIS W o [Tehrg g2 1 58 fefciiad § & &9 a1 e 2
T WIEAT — SATHRIT ShH=l & o W — TR STa 36l — TAIRI-e W
TUIAT T A [T Iepeeal & T AT — B 9o — faeages sied ol —

(1
2)

3)

4

TR e

T AT — YOTAT W e o foTT Sl & Fag AT — T e Sietl —

TSRS ey

AT SeHT o IT JATT HAT — &l JIa T — TTeaiges Stia et — faer
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43. Match List — I with List — IT and indicate your answer using the codes given below :

List -1 List - II
(Books) (Authors)
a. Totem and Taboo 1. Jung
b. Psychology of Dementia Praecox ii.  Adler
c. The Science of Living iii.  Freud
d. Self-Analysis iv.  Horney
Codes :
a b c d
(H i i v
(2) ii i iv il
3) iii i i v
4 iv i i ii

44. Match List — I with List — II and select the correct answer by choosing from the codes
given below :

List - I List = IT ‘

a. Instincts 1. Deficiency or excess of something in the organism and its
surrounding whi¢h init direct the behaviour.

b. Needs ii.  Naturally purposive activities possessed by an organism
which guide him in the att@inment of ends useful to it in its
own preservation or thef preservation of species and the
avoidance of contrary. -

c. Drives iii. Psychob’biqgical readirgss instigating behaviours that

retugn the organism to a state of equilibrium.

d. Hedonic state  iv. 4 fendency oriented to seek maximum pleasure and to
=minimize pain.

Codes :

a b C d
(H i i v
2) ii i i v
3) i iv il i
4) iv il i ii

45. Which statement about complete colour blindness is true ?
(a) There are more men who are colour blind than women.
(b)  All colour blind people can see only black and white.
(c) All colour blind can see only blue.
(d) Same colour blind people can see only blue and red.

Codes :
(1) (a)only (2) (a)and (c)
(3) (d)only (4) (b) and (c)
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43.

4.

45.

Tt — I 1 gt — 11 & GAferd g wd A9 5w 70 g & el 39 61 = iy

et -1 e - 10
(T=) (FTG)
a. <IgH WUg oY i S
b. HEHCAST A feAfw@r Weed i, USeR
c. T HET I feten iii. wEE
d. UoH-TATCEaY iv. @Mt
EIL\-Tc‘.‘:
a b C d
1 i i dii v
) i i iv i
(3) i i i v
4) iv i i i

T — 1 g Ilﬁgﬁ%ﬁﬁﬁqwﬁ%mmqﬁﬁ@aﬁwwwﬁm:

e -1 T -1 <
a. {auqfﬂ?ﬁ i IR T TR W?ﬂaﬂwaﬁrm
H-UT 1 TR A & AR W
Hlfeld A ¢ |
b. ITE¥ERAT . u@&mm@f fopats it g1 et aeft &
ST S FraT T H?JT R vl 1 3

Qﬁmmaﬂﬁwﬁm e B R | SEe

c. 3 . ﬁw RN aﬁ(ﬁ-lsqoldl T ST 9

d. &t fEid v wwwg@uﬁ%qﬁrﬂ@wwﬁr
E
a b c d
() i i i v
2 i i i v
3) i iv i i
4) iv i i i
QU SUTTAT % Gee | I T B GEl & ?

(a) TECTST o 3TUeT YEUT § Ui 31k gt & |

(b) i U SafeRT Shelet el 3R e o T & |
(c) EHi U Safert shelel et &0 2 Hehdl ¢ |

(d) T IUT AT Heet el 3T AT Jv1 3@ Tohdt ¢ |

ag:
(1) %3 (a) 2) () ¥R (c)
(3) e (d) (4)  (b) 3R (c)
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Instructions for Question No. 46 to 50 :

Read the following paragraph and answer the five questions which follow :

A personality psychologist, following Hull-Spence theory, proposed that anxiety is an
emotionally-based drive. One of the consequence of this proposition is the hypothesis
suggesting that high anxious subjects would be conditioned faster than the low anxious subjects
on an eyelid conditioning task. In the first phase of his research, the psychologist developed a
suitable anxiety inventory. The psychologist prepared fifty items, each item being a seven-point
self-rating scale. The draft version was administered to 350 subjects. Item analysis was carried
out using item-remainder correlations, which retained forty items. For computing internal
consistency, odd-even method was used. The test was divided into two equal parts-one based on
odd items and the other based on even items. The correlation between the two parts was 0.60.
The Spearman-Brown corrected reliability coefficient was obtained. The norms were prepared
using normalized T scores.

In the second phase of the study, 30 high anxious and 30 low anxious subjects were obtained
using the T scores of 60 and 40 as the cut-off points for high and low anxious subjects
respectively. In the eyelid conditioning experiment, the high anxious subjects required mean
trials = 20 and the low anxious subjects required mean trials = 15 for conditioning. The
corresponding standard deviations were also obtained. The t test revealed that the mean
difference between the two groups was statistically significant.

46. In the above context, which type of correlation is suitable for obtaining the item-remainder
correlations ?
(1) Contingency Coefficient (2) Biserial Correlation
(3) Point-biserial Correlation (4) Product Moment Correlation

47. The Spearman-Brown corrected reliability coefficient would be
(1) .60 (2) 75
3) .90 (4) Near 1

48. What other statistical indices of internal consistency can be calculated in this work ?
(a) Mean interitem Correlation
(b) Test-retest Reliability
(c) Cronbach Alpha
(d) Phi Coefficient

Codes :
(1) (c) only (2) (a) and (c) only
(3) (b) and (d) only (4) (), (c) and (d) only
49. The percentile rank of any low anxious subject in the phase 2 of this research would be
(1) 16orless (2) 25orless
(3) 34orless (4) 5S0orless

50. For the newly developed anxiety inventory the above study provides
(1) Evidence for satisfactory Construct Validity
(2) Evidence for satisfactory Concurrent Validity
(3) Evidence for satisfactory Content Validity
(4) No evidence for any of the above Validity
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T . 46 T 50 % o0 SR
FrfafEd =% o Uiy 3R 39 A T T Ui JeT o 3T ST

TS ST AR §o1-TT g 1 STERUT F¥eh Ig URATd [ Soaal Ueh HIgAT STea
AT € | T8 UNEHTIAT T TS o IRV § ¥ Uk ¢ S A€ el ool § o gaelt SFEer w1 H
3= 3T fawg &1 SFEe &A RO 9ug @ ot § oSt 9§ BEM | ST 9Ny % U wRer ®
O = T SUgET e et S | FACRIE 7 50 IS oAR w3 Hedd 6E WId G e
o S 1 g G 350 faue v fee T | TR Ui T SUANT ek HaT Bl
faroctuoT feram mam fSTaw 40 7S & 5= Urlt | 3TANGR [T St O 36 o foTd forrm-|m uegfa ot o
foram T ar | RieTor <1 TEE A H ater wa e @ v faud w91t o) smeia o iR gE 9 wei
MR a7 | I 9 & = 0.60 T TUTH AT | 30 YR H NRA-513 |ented foeas=aar Jones
T TSR TR | WIS 21-%hR ST SUFNT 3k HFeh R fh 1T & |

3T & TR TROT § 3= 3R = e fowai o foTw shaer: 21-%hR & 60 377 40 fowg r dimn
% T H TET A g 30 I AT SR 30 = AT foavg AR R T | qaelt 3Tsher URieIr
3= 3T fowat & folu 3Teher & STUfeTd WTed WA = 20 T =JA SR fowa o fow aTdfera wren

= 15 € | Heitud Ak foaer off o fo6d 70 4 | Soadieror ¥ 98 o =en o A 99el % o
AT 3T RTHIT T F g 314 o |

46. I TY T, WWWWW%W%‘H TR T 0T ST T2

(1) SmemfeTeR oTs ) g Ui

(3) a5 fg-spia o (4) SR GI T
47. TEOEEA-SISA RNt faverg=radT ot g

(hH .60 2) .75

(3) .90 4) 1% Fwe

48. 3@ FHE H DA T 3T AN BTN T Gl b T Bl ST Tehell & 2
(a) A SIS UTH
(b)  TRIEIOT-GURIETOT forgargrart

(c) hIe 3TH

(d) T T

E@':

(1) e (c) (2) %A (a) 3 ()

(3) %= (b) 3R (d) (4) A (a), (c) #R (d)
49. TH Y % =ROI-2 § TR A g oS B HfaRider I g

(1) 16 3T A (2) 25 AT HY

(3) 34 3TET HH (4) 50 3T HH

50. =7 forepaa g gt & fofw S sremae fefeiad | & o gear s6adm € 2
(1) G FHT0T Sear o T wamoT
(2) IS GHEET dEdT % fog v
(3) IS fogeg ST & fere T
4) S o ¥ ot duan % forg g vrror
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